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En	
  supposant,	
  pour	
  simplifier,	
  que	
  le	
  résistances	
  R1,	
  R2,	
  …	
  RN	
  soit	
  constantes	
  en	
  
fonc<on	
  du	
  temps,	
  on	
  a	
  que	
  la	
  résistance	
  du	
  portable	
  est	
  
	
  
	
  
	
  
nous	
  avons	
  alors	
  	
  
	
  
	
  
	
  
c’est	
  à	
  dire	
  	
  
	
  

! ! ! !!! ! !!!!!!
!!!

!!!
!!! !!

!!!!"#$!!!! ! ! !!!!!!!"!!!!"#!!"#$%&!!!"!!!!"#!!"!"#$%&!

Vdd	
  

(Rb+R)C	
   t	
  

vc	
  

!! ! ! !!! ! !!
! !

!!!!! !

!! ! ! !!!!!!!!!!!!!!!!!!!!!!!!!!
!!! ! !!! ! ! !!!!!!!

!
!!!!! !!!!

5	
  



6	
  

En	
  supposant	
  d’aEacher	
  le	
  chargeur	
  à	
  t0	
  (quand	
  la	
  tension	
  sur	
  C	
  est	
  Vx),	
  que	
  Rb	
  <<	
  R	
  
et	
  que	
  Rc	
  <<	
  R,	
  on	
  peut	
  voir	
  que	
  
	
  
	
  
alors	
  	
  
	
  
	
  
et	
  donc	
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OFF	
  –	
  Le	
  passage	
  d'un	
  composant	
  matériel	
  à	
  cet	
  état	
  est	
  le	
  résultat	
  de	
  la	
  suppression	
  de	
  
l'alimenta<on	
  du	
  composant.	
  Les	
  données	
  et	
  l'état	
  sont	
  perdus.	
  Le	
  composant	
  ne	
  aura	
  pas	
  
la	
  capacité	
  de	
  répondre	
  à	
  des	
  événements	
  extérieur.	
  
	
  
Ac2ve	
  –	
  Un	
  composant	
  matériel	
  dans	
  cet	
  état	
  est	
  en	
  train	
  de	
  traiter	
  des	
  tâches,	
  des	
  
données	
  et	
  des	
  événements	
  sont	
  générés	
  et	
  reçus	
  à	
  par<r	
  des	
  portes	
  d’input.	
  L'exigence	
  sur	
  
les	
  ressources	
  énergé<ques	
  est	
  élevée	
  pour	
  garan<r	
  que	
  ce	
  traitement	
  ait	
  lieu.	
  Il	
  est	
  peut-­‐
être	
  en	
  aEente	
  d’exécuter	
  des	
  tâches	
  ou	
  de	
  répondre	
  à	
  des	
  demandes	
  de	
  traitement.	
  
	
  
Idle	
  -­‐	
  Il	
  s'agit	
  généralement	
  d'un	
  état	
  transitoire.	
  Le	
  composant	
  matériel	
  a	
  terminé	
  le	
  
traitement	
  d'une	
  tâche	
  et	
  aucune	
  demande	
  pour	
  des	
  services	
  supplémentaires	
  a	
  été	
  placé.	
  
Aucun	
  de	
  composants	
  connectés	
  agit	
  sur	
  ��les	
  inputs,	
  ni	
  de	
  nouveaux	
  événements	
  internes	
  
sont	
  générés.	
  Le	
  composant	
  a	
  la	
  capacité	
  de	
  répondre	
  à	
  de	
  nouveaux	
  événements	
  et	
  de	
  les	
  
traiter.	
  Son	
  état	
  et	
  ses	
  données	
  sont	
  conservés.	
  
	
  
Réten2on	
  –	
  Dans	
  cet	
  état,	
  les	
  exigences	
  en	
  ma<ère	
  de	
  ressources	
  énergé<ques	
  sont	
  
réduites	
  à	
  celles	
  nécessaires	
  pour	
  préserver	
  les	
  données	
  du	
  composant,	
  l'état	
  interne	
  et	
  la	
  
capacité	
  à	
  détecter	
  des	
  événements	
  externes	
  ou	
  de	
  générer	
  des	
  événements	
  internes.	
  Le	
  
composant	
  n’exécute	
  pas	
  de	
  tâches	
  ac<ves,	
  il	
  n'est	
  pas	
  impliqué	
  en	
  transac<on	
  des	
  données	
  
et	
  il	
  n’y	
  a	
  pas	
  des	
  traitements	
  internes	
  en	
  cours.	
  
	
  
Standby	
  -­‐	
  Dans	
  cet	
  état	
  de	
  puissance,	
  le	
  composant	
  matériel	
  peut	
  ne	
  pas	
  avoir	
  la	
  capacité	
  
de	
  conserver	
  les	
  données	
  et	
  l’état,	
  mais	
  le	
  logiciel	
  de	
  control	
  de	
  l’énergie	
  peut	
  les	
  restaurer	
  
quand	
  on	
  transit	
  vers	
  le	
  mode	
  ac<f.	
  Les	
  exigences	
  en	
  ma<ère	
  de	
  ressources	
  énergé<ques	
  
peuvent	
  être	
  considérablement	
  réduit.	
  Le	
  composant	
  peut	
  conserver	
  une	
  certaine	
  capacité	
  
à	
  détecter	
  et	
  servir	
  des	
  événements	
  extérieurs	
  avec	
  un	
  temps	
  de	
  réponse	
  lent.	
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With	
  the	
  convergence	
  of	
  new	
  compu2ng,	
  communica2on	
  and	
  entertainment	
  applica2ons	
  on	
  
wireless	
  handsets,	
  power	
  demands	
  are	
  increasing	
  rapidly,	
  yet	
  the	
  capacity	
  of	
  baEeries	
  cannot	
  
keep	
  up.	
  
	
  
Wireless	
  mobile	
  devices	
  are	
  approaching	
  an	
  impasse.	
  With	
  the	
  convergence	
  of	
  new	
  compu<ng,	
  
communica<on	
  and	
  entertainment	
  applica<ons	
  on	
  wireless	
  handsets,	
  power	
  demands	
  are	
  
increasing	
  rapidly,	
  yet	
  the	
  capacity	
  of	
  baEeries	
  cannot	
  keep	
  up.	
  At	
  the	
  same	
  <me,	
  consumers	
  
want	
  sleek,	
  compact	
  mobile	
  devices	
  they	
  can	
  slip	
  into	
  a	
  pocket.	
  Integra<on	
  at	
  the	
  chip	
  level-­‐-­‐
oden	
  combining	
  mul<ple	
  processing	
  cores	
  in	
  the	
  same	
  device-­‐-­‐and	
  smaller,	
  submicron	
  
fabrica<on	
  processes	
  help	
  to	
  reduce	
  the	
  size	
  of	
  wireless	
  handsets	
  while	
  enabling	
  added	
  
func<onality.	
  Unfortunately,	
  smaller	
  submicron	
  processes	
  exacerbate	
  the	
  problem	
  of	
  sta<c	
  
leakage	
  power.	
  Manufacturers	
  of	
  wireless	
  handsets	
  and	
  other	
  mobile	
  devices	
  are	
  challenged	
  to	
  
reduce	
  power	
  consump<on	
  while	
  enhancing	
  system	
  performance.	
  In	
  other	
  words,	
  do	
  more	
  for	
  
less.	
  
	
  
Such	
  rapid	
  integra<on	
  both	
  in	
  silicon	
  and	
  sodware	
  space	
  is	
  posing	
  a	
  significant	
  design	
  problem	
  
for	
  power	
  management	
  engineers.	
  Power	
  management	
  no	
  longer	
  remains	
  a	
  hardware-­‐only	
  
problem,	
  rather	
  it	
  has	
  become	
  a	
  system	
  problem	
  and	
  being	
  addressed	
  by	
  all	
  engineers	
  involved	
  
in	
  system	
  design	
  process.	
  Power	
  management	
  decisions	
  are	
  being	
  taken	
  at	
  both	
  hardware	
  and	
  
sodware	
  level.	
  Techniques	
  are	
  invented	
  and	
  deployed	
  in	
  both	
  hardware	
  and	
  sodware.	
  
Increasing	
  focus	
  towards	
  system	
  aspects	
  of	
  cellular	
  phones	
  forced	
  designers	
  to	
  take	
  a	
  holis<c	
  
and	
  dynamic	
  approach	
  to	
  power	
  management	
  to	
  effec<vely	
  decrease	
  power	
  consump<on	
  
without	
  degrading	
  performance.	
  
	
  
A	
  good	
  number	
  of	
  techniques	
  are	
  used	
  by	
  designers	
  to	
  reach	
  the	
  goal	
  —	
  efficient	
  processors,	
  
variable-­‐speed	
  clocks,	
  circuit	
  shutdowns,	
  low-­‐voltage	
  logic,	
  sodware	
  design	
  aids,	
  and	
  advanced	
  
power-­‐management	
  sodware.	
  System-­‐level	
  power-­‐management	
  architecture	
  typically	
  starts	
  
with	
  conserva<on	
  at	
  the	
  source.	
  For	
  example,	
  baEery-­‐management	
  ICs	
  and	
  system-­‐power	
  
regulators	
  let	
  engineers	
  design	
  power	
  efficient	
  products.	
  Consider	
  a	
  typical	
  wireless	
  product	
  
with	
  an	
  RF	
  receiver.	
  Designers	
  can	
  employ	
  a	
  linear	
  RF	
  power	
  controller	
  to	
  act	
  as	
  an	
  on-­‐off	
  
switch	
  to	
  conserve	
  energy	
  when	
  the	
  wireless	
  feature	
  is	
  not	
  in	
  use.	
  Effec<ve	
  power	
  management	
  
architectures,	
  however,	
  must	
  address	
  all	
  levels	
  of	
  system	
  design.	
  And	
  sodware	
  architecture	
  
plays	
  a	
  key	
  role	
  in	
  system-­‐level	
  power	
  management.	
  
	
  
Source:	
  	
  Power	
  Management	
  for	
  Mobile	
  Devices,	
  Sabyasachi	
  Dey,	
  May	
  05,	
  2006	
  
Link:	
  hEp://www.drdobbs.com/mobile/184407880?nomobile=1	
  
	
  
	
  
	
   21	
  



22	
  



23	
  



24	
  



25	
  



26	
  



27	
  



28	
  



29	
  



30	
  



31	
  



32	
  



Les	
  fonc<ons	
  de	
  division	
  sont	
  très	
  intensives	
  pour	
  le	
  processeur	
  et	
  consomment	
  beaucoup	
  
de	
  cycles	
  d'instruc<on,	
  qui	
  gaspillent	
  du	
  temps	
  et	
  de	
  l’énergie.	
  Si	
  la	
  division	
  est	
  par	
  une	
  
puissance	
  de	
  2	
  on	
  peut	
  u<liser	
  des	
  «	
  shids	
  »	
  et	
  des	
  «	
  bit	
  masks	
  ».	
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Sur	
  le	
  microcontrôleurs	
  sans	
  un	
  module	
  mul<plicateur	
  (MPY),	
  les	
  	
  mul<plica<ons	
  complexes	
  
(sans	
  une	
  puissance	
  de	
  2)	
  nécessitent	
  	
  que	
  le	
  compilateur	
  génère	
  du	
  code	
  supplémentaire	
  
pour	
  simuler	
  l'algorithme	
  de	
  mul<plica<on.	
  	
  Cela	
  pourrait	
  poten<ellement	
  ajouter	
  une	
  
quan<té	
  importante	
  d'instruc<ons	
  pour	
  le	
  programme.	
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L’ISR	
  doit	
  être	
  exécuté	
  d'une	
  manière	
  courte	
  et	
  en	
  temps	
  opportun	
  afin	
  d'améliorer	
  
la	
  réponse	
  en	
  temps	
  réel	
  du	
  système.	
  	
  
Les	
  ISRs	
  doivent	
  exécuter	
  une	
  quan<té	
  minimale	
  d'instruc<ons,	
  ce	
  qui	
  permet	
  au	
  
CPU	
  de	
  revenir	
  rapidement	
  au	
  «	
  sleep	
  mode	
  »	
  ou	
  à	
  sa	
  tâche	
  précédente.	
  La	
  plupart	
  
du	
  traitement	
  devrait	
  avoir	
  lieu	
  dans	
  l'applica<on	
  principale	
  en	
  mode	
  ac<f.	
  Par	
  
conséquent,	
  les	
  appels	
  de	
  fonc<on	
  au	
  sein	
  d'une	
  rou<ne	
  ISR	
  doit	
  être	
  évité	
  afin	
  de	
  
prévenir	
  qu’une	
  quan<té	
  considérable	
  d’exécu<on	
  de	
  code	
  supplémentaire	
  soit	
  
introduite	
  (ex.	
  sur	
  l'entrée:	
  le	
  stockage	
  du	
  PC	
  actuel	
  et	
  l'état	
  du	
  processeur,	
  le	
  
chargement	
  de	
  la	
  fonc<on	
  et	
  la	
  prépara<on	
  de	
  sa	
  propre	
  pile;	
  	
  sur	
  la	
  sor<e:	
  	
  la	
  
restaura<on	
  de	
  la	
  pile	
  et	
  l'état	
  du	
  processeur	
  avant	
  de	
  revenir	
  pour	
  poursuivre	
  
l'exécu<on	
  du	
  code	
  interrompu).	
  
	
  
Au	
  lieu	
  d'appeler	
  des	
  fonc<ons	
  dans	
  l’ISR,	
  essayer	
  de	
  fonc<ons	
  «	
  inline	
  »	
  ou	
  
«	
  macros	
  »,	
  c'est	
  à	
  dire	
  déplacer	
  les	
  instruc<ons	
  de	
  code	
  directement	
  dans	
  l’ISR,	
  ou	
  
de	
  déplacer	
  toute	
  la	
  fonc<on	
  au	
  dehors	
  de	
  l’ISR,	
  si	
  possible	
  (en	
  par<culier	
  pour	
  les	
  
fonc<ons	
  de	
  traitement	
  intensif).	
  Pour	
  ceEe	
  dernière	
  op<on,	
  un	
  indicateur	
  global	
  
peut	
  être	
  configuré	
  pour	
  no<fier	
  au	
  programme	
  principal	
  d'invoquer	
  l'appel	
  de	
  
fonc<on	
  lorsque	
  la	
  CPU	
  est	
  hors	
  de	
  l’ISR.	
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Les	
  Microprocesseurs	
  proposent	
  différents	
  types	
  de	
  temporisateurs	
  et	
  d’horloges	
  
qui	
  peuvent	
  être	
  configurés	
  pour	
  fonc<onner	
  sans	
  interven<on	
  du	
  CPU.	
  Quand	
  un	
  
délai	
  est	
  nécessaire,	
  un	
  des	
  périphériques	
  «	
  <mer	
  »	
  peut	
  être	
  exploité	
  pour	
  générer	
  
un	
  tel	
  retard,	
  sans	
  que	
  le	
  CPU	
  reste	
  ac<f.	
  CeEe	
  méthode	
  réduit	
  considérablement	
  la	
  
consomma<on	
  électrique	
  de	
  l'appareil.	
  Ces	
  «	
  <mers	
  »	
  peuvent	
  permeEre	
  au	
  
microcontrôleur	
  de	
  rester	
  dans	
  un	
  mode	
  de	
  faible	
  consomma<on	
  jusqu’au	
  réveil	
  du	
  
CPU	
  grâce	
  à	
  l’expira<on	
  du	
  «	
  <mer	
  ».	
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En	
  	
  assembly,	
  un	
  «	
  branch	
  »	
  condi<onnel	
  basé	
  sur	
  la	
  comparaison	
  d'une	
  variable	
  
envers	
  une	
  valeur	
  non	
  nulle	
  exige	
  deux	
  instruc<ons:	
  «	
  compare	
  »	
  et	
  «	
  branch	
  ».	
  
Toutefois,	
  lorsque	
  le	
  «	
  branch	
  »	
  et	
  «	
  compare	
  »	
  est	
  envers	
  zéro,	
  une	
  instruc<on	
  
spécifique,	
  BNE,	
  peut	
  être	
  u<lisée	
  pour	
  effectuer	
  ces	
  deux	
  ac<ons	
  ensemble.	
  Cela	
  
est	
  également	
  vrai	
  pour	
  une	
  opéra<on	
  de	
  branch	
  en	
  C.	
  Ainsi	
  un	
  «	
  coun<ng	
  down	
  
loop	
  »	
  permet	
  de	
  réduire	
  d’une	
  instruc<on	
  pour	
  chaque	
  itéra<on	
  du	
  loop	
  par	
  
rapport	
  à	
  un	
  «	
  coun<ng	
  up	
  loop	
  ».	
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Les	
  compilateurs	
  C	
  en	
  général	
  allouent	
  les	
  variables	
  globales	
  dans	
  la	
  mémoire	
  RAM.	
  
D'autre	
  part,	
  les	
  variables	
  locales	
  sont	
  d'abord	
  assignées	
  dans	
  les	
  registres	
  du	
  
processeur	
  (si	
  il	
  y	
  a	
  des	
  registres	
  libres).	
  Les	
  accès	
  aux	
  registres	
  CPU	
  sont	
  les	
  plus	
  
efficaces	
  et	
  les	
  plus	
  rapides,	
  par	
  rapport	
  à	
  des	
  accès	
  à	
  des	
  loca<ons	
  de	
  mémoire	
  
dans	
  la	
  RAM	
  ou,	
  pire	
  encore,	
  dans	
  la	
  mémoire	
  FLASH.	
  Par	
  conséquence,	
  toutes	
  les	
  
variables	
  globales	
  qui	
  sont	
  accessibles	
  seulement	
  au	
  sein	
  d'une	
  fonc<on,	
  peuvent	
  
être	
  en	
  toute	
  sécurité	
  relogées	
  dans	
  le	
  cadre	
  de	
  la	
  fonc<on	
  locale	
  pour	
  op<miser	
  la	
  
vitesse	
  d'accès	
  de	
  la	
  mémoire	
  et	
  la	
  consomma<on	
  d'énergie.	
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Les	
  variables	
  locales	
  sont	
  allouées	
  dynamiquement	
  à	
  chaque	
  appel	
  de	
  fonc<on.	
  Cela	
  
nécessite	
  du	
  code	
  supplémentaire	
  et	
  de	
  l'espace	
  RAM	
  et	
  l'impact	
  augmente	
  en	
  
fonc<on	
  de	
  la	
  fréquence	
  d'appel	
  de	
  la	
  fonc<on.	
  D'autre	
  part,	
  lorsqu'elles	
  sont	
  
déclarées	
  comme	
  «sta<ques»,	
  les	
  variables	
  sont	
  générées	
  qu'une	
  fois	
  et	
  restent	
  
disponibles	
  pendant	
  toute	
  la	
  durée	
  de	
  l'applica<on.	
  Cela	
  réduit	
  la	
  quan<té	
  de	
  code	
  
nécessaire	
  pour	
  re-­‐alluer	
  	
  /	
  re-­‐ini<aliser	
  les	
  variables	
  chaque	
  fois	
  que	
  la	
  fonc<on	
  est	
  
invoquée.	
  En	
  variante,	
  lorsque	
  le	
  modificateur	
  «	
  const	
  »	
  est	
  u<lisé,	
  la	
  variable	
  est	
  
stockée	
  en	
  tant	
  que	
  donnée	
  de	
  flash	
  dans	
  le	
  cadre	
  de	
  la	
  fonc<on,	
  donc	
  on	
  ne	
  
nécessite	
  pas	
  de	
  ré-­‐alloca<on	
  à	
  chaque	
  entrée	
  de	
  la	
  fonc<on.	
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Les	
  paramètres	
  de	
  les	
  fonc<ons	
  C	
  peuvent	
  être	
  passés	
  par	
  valeur	
  (par	
  exemple	
  
int	
  valeur)	
  ou	
  par	
  référence	
  (par	
  exemple	
  int	
  *valeur).	
  Lors	
  du	
  passage	
  par	
  
valeur,	
  le	
  compilateur	
  a	
  besoin	
  de	
  générer	
  du	
  code	
  pour	
  copier	
  les	
  valeurs	
  
des	
  variables	
  dans	
  les	
  registres	
  et	
  dans	
  la	
  pile.	
  Les	
  registres	
  ont	
  un	
  temps	
  
d'accès	
  plus	
  rapide,	
  mais	
  sont	
  limités	
  en	
  nombre,	
  par	
  conséquence,	
  ils	
  sont	
  
u<lisés	
  pour	
  les	
  premières	
  variables	
  pe<tes.	
  Pour	
  les	
  grandes	
  variables	
  
telles	
  que	
  les	
  structures	
  ou	
  les	
  "unions",	
  la	
  pile	
  située	
  dans	
  la	
  mémoire	
  
RAM	
  est	
  requise	
  pour	
  stocker	
  les	
  données	
  supplémentaires.	
  Copier	
  des	
  
structures	
  de	
  données	
  nécessite	
  l'exécu<on	
  de	
  code	
  supplémentaire.	
  Lors	
  du	
  
passage	
  par	
  référence,	
  la	
  fonc<on	
  a	
  seulement	
  besoin	
  de	
  copier	
  les	
  adresses	
  
des	
  variables,	
  limitant	
  les	
  instruc<ons	
  pour	
  copier	
  les	
  données	
  globales	
  
seulement	
  au	
  nombre	
  des	
  paramètres	
  de	
  la	
  fonc<on.	
  Ceci	
  réduit	
  
considérablement	
  le	
  nombre	
  d'instruc<ons	
  en	
  cours	
  d'exécu<on	
  à	
  chaque	
  fois	
  
que	
  la	
  fonc<on	
  est	
  invoquée.	
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Normalement	
  dans	
  le	
  code	
  embarqué	
  C,	
  on	
  u<lise,	
  pour	
  stocker	
  plusieurs	
  bits	
  
d'informa<on	
  en	
  une	
  seule	
  variable,	
  de	
  champs	
  binaires	
  ou	
  masque	
  de	
  bits.	
  
L'avantage	
  des	
  bit-­‐mask	
  sur	
  les	
  bit-­‐fields,	
  c'est	
  que	
  plusieurs	
  bits	
  masques	
  
peuvent	
  être	
  combinés	
  en	
  un	
  masque	
  de	
  bits	
  unique,	
  permeEant	
  au	
  compilateur	
  
d'émeEre	
  une	
  instruc<on	
  unique	
  pour	
  accéder	
  à	
  la	
  variable.	
  D'autre	
  part,	
  
le	
  compilateur	
  ne	
  peut	
  pas	
  gérer	
  les	
  bit-­‐fields	
  avec	
  une	
  seule	
  instruc<on.	
  
Donc	
  on	
  doit	
  exécuter	
  le	
  code	
  supplémentaire	
  et	
  par	
  conséquent	
  u<liser	
  plus	
  
d’énergie	
  pour	
  exécuter	
  la	
  même	
  quan<té	
  de	
  code	
  efficace.	
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